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Vl Semester B.Com. Examination, July/August 2024
(NEP Scheme)
COMMERCE

Com 6.2 : lncome Tax Law and Practice - ll
Time '. 2/z llours Max. Marks : 60

lnstruction : Answer should be completely in English or in
Kannada.

SECTION - A

1. Answer any 6 of the following sub-questions. Each sub-question
2 marks.

a) Define profession.

b) What do you mean by cash system of accounting ?

c) What do you mean by lndexed Cost of Acquisition ?

d) Narne any 4 incomes chargeable to tax under the head income from other
sources.

e) What is a Capital Asset ?

f) Expand CBDT, ClT, ITO and PAN.

g) Mention any 4 admissible expenses while calculating income from business.

h) What is Tax-free Government Securities ?

SECTION _ B

Answer any 3 questions. Each question carries 4 marks. (3x4=12)

2. State the admissibility of the following expenses while computing profit and
Gains of businessl'

1) Sales tax paid during the year t 30,000

2) Loss due to theft T 3,00,000

3) Proprietor Salary T 48,000

4) Gifts and presents to customers t 25,000

5) lnterest on capital t 60,000

6) Life Insurance premium T 40,000

7) Donation to political party t 2,00,000

8) Laxmi Pooja expenses t 20,000. 
p.r.o.

carries

.i

dt^\--z'
d/Oaln*9-

(6x2=12)
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3' From the following Profit and Loss A/c of Mr. Harish Bhat for the year ended
31-3-2023. Ascertain his taxable profit from business.

Profit and Loss Alc
{ Cr.

particulars

45,600 By Gross profit 5,74,650
25,550 By Commission 12,SOO

21,000 By Discount 7,500
35,000 By Sundry Receipts 21,000
18,000 By Rent of Building 65,000
12,500 By Capital Gain 3S,O0O

13,500 By Winning from Lottery

22,500 (net) 67,500
21,000

16,000

3,52,500

5,83,150 5,g3,150
The amount of depreciation allowable as lr Rules { 1g,ooo.

4. Mr. Rao sells agriculture land situated within the municipal limits of Bangalore
for { 80,00,000 and paid 2/o commission on July 4,2O2g.Which was purchased
by him on March 1 , 2oo7 for { 15,00,000. on 1sth March 2a24, he purchases
a rural agriculture land for { 9,O0,OOO.

compute his ificome from capital Gain for the A.y.2023-24 cll for years
2006 - 07 : 122 and 2022 - 23 : 331.

5.ComputelncomefromotherSourceofMr.DhanushfortheA.Y.2o2g-24.

a) Purchase of lottery tickets t 2,SOO,

b) Winning from lottery t B4,O0O after TDS of t 36,000

c) lnterest on fixed deposits T SS,O0O (Gross).

d) Family pension received { 9,000 p.m.

e) Winning from card games t 22,000.

-2-

Dr.

Pafiiculars

To Office Salary

To General Expenses

To Bad Debts

To Reserve for Bad Debts

To Fire lnsurance premium

To Advertisement

To lnterest on Capital

To lnterest on Bank Loan

To Donation

To Depreciation

To Net Profit

I
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6. From the following incomes of Dr. Ramya (Resident) for the p.y. ended
31-3-2023. Compute her GTI for the A.Y. 2023-24.

a) lncome from house property (computed) { 1,BO,O0O

b) Directors fees t 40,000

c) Winning from lottery (net) t 1,05,000

d) Income from profession (computed) T 3,BS,OOO

e) Dividend from co-operative society T 90,000

f) Long term capital gain t 80,OOO.

SECTION - C

Answer any 3 questions. Each question carries 12 marks. (3x12=36)

7. The following is the Profit and Loss Account and additional information of
Mr. Sudharshan for P.Y. 2022-23.

Profit and Loss Account for the year 31-3-2023

Particulars

Opening stock

Purchases

Wages

Freight

Gross profit {r,

Office expenses

Salaries

Rent and taxes

lncome tax

Household expenses

Reserve for bad debts

T Particulars

85,000 Sales

2,40,000 Closing stock

18,000

12,000

4,05,000

7,60,000

18,000 Gross profit

26,000 Dividend on shares (Gross)

16,000 Rent from house property

18,000 Refund of lT

15,000 lnterest on government

8,000 Securities

t
6,50,000

1,10,000

7,60,000

4,05,000

12,000

1,14,000

6,000

1,io,ooo
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Advertisement

Donation

Sales tax

Provision for !ncome tax

Carriage outwards

Drawings

General expenses

lnterest on capital

Bad debts

Repairs

Taxes and insurance

Car expenses

Audit fees

Depreciation

Net profit

Iffiil]llilttililiilliltililil

15,000 Bad debts recovered 1g,0OO

8,000 Profit on sale of machinery 1,90,OOO

20,000 Miscellaneous income 1S,OOO

19,000

15,000

9,000

16,000

19,000

9,000

8,500

5,500

12,000

12,500

30,500

5,73,000

8,70,000 9,70,000
Additional information :

i) Salaries include payment to a relative employee. Which is considered to be
unreasonable upto { 8,500.

ii) Purchase include two payments T ao,ooo and t 1o,oo0 paid in cash to a
supplier. ,

iii) Opening stock is valued at 1Oo/o above cost and ctosing stock 10% above
cost. i

Allowable depreciation is t 34,500.

60% of car expenses are for bubiness purpose.

General expenses include < 8,000 given to notified research institute for
carrying on scientific research.

iv)

v)

vi)

- 
rl

'. 
1

compute lncome from business of Mr. sudharshan for A. y. 2azg - 24.
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8. Mr. Madan, a reputed lawyer of Bangalore. He has prepared the following
lncome and Expenditure Account for the year ended 31-9-2023.

Expenditures { lncome t
To Household expense 26,000 By Legal fees 2,86,000

To Office expenses 16,000 By Special Commission 5,600

To Charities 12,000 By Cash gift received from

. To Telephone expenses 9,000 clients 8,000

To lncome tax 16,000 By House rent 85,000

To Rent 18,000 By lnterest on government

To Gift to daughter 8,000 securities 36,000

To Electricity charges 4,000 By salary as part time lecture

To Contribution to NDF 5,OOO in Law College 32,OOO

To Contribution to PPF 5,600

To Law books 8,000

To Salaries 32,000

To Purchase of motor car 1,50,000

To Purchase of furniture 10,000

To Life lnsurance premium 12,000

To Motor car expenses 15,000

To Purchase of computer 40,000

To Surplus 66,000
{, 4,s2,60o 4,52,600

Following other particulars was received :

a) He lives in one-half of the house and other half is used for office. Rent and
electricity charges are in respect of this house.

b) One-half of car expenses are for personal use.

c) Depreciation motor car at 15o/o p.a. The computer at 40/" p.a. Law books
al40o/" p.a. and furniture at 10o/o p.s.

Compute taxable income from profession for the A.Y. 2O2g - 24,

:
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9. From the following inforrnation of Mr. Mahesh. Compute his incor e',.,i other

sources for the A.Y " 2023 - 24.

a) Royalty from text books { 3,60,000 (Expenses incurred in earn r:g royalty

income t 35,000).

b) Director sitting fee received from X Co. { 45,000.

c) He is residing in a rented house on rent of t 45,000 p.m. He sublets 40'k

of the house to a subtenant on a rent of T 35,000 p.m. He has incurred the

following expenses on the entire property.

'1) Municipal tax T 15,000

2) lnsurance T 12,000

3) Repairs t 18,000"

d) Rent from letting of building along with machinery t 75,000 p.m. He claims

following expenses :

1) Depreciation { 55,000

2) Repairs t 34,500

lncome from agriculture in Rajasthan { 4,56,000

lnsurance commission received { 95,000 (net) and expenses incurred in

earning insurance commission { 17,500.

g) Winning from Karnataka State Lottery < 5,00,000 (Gross).

h) lnterest on bank deposit received < 90,000 (net).

i) Share from HUF { 1,80,000.

10. Mr. Manjappa sold some of his properties during the P.Y. 2A22- 23 is as

under:

a) Jewellery costing { 4,00,000 was sold for T 32,50,000 in May 2022 which

was acquired in June 2015.

e)

f)

'.,I
rl
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b) Residential house at Mysore which was inherited by him in 1998. Sold

on 31 -10-2022 for { 45,00,000. FMV on 01 -04-2001 { 9,00,000. Cost of

improvement made during the year 2A14 - 15 { 3,00,000. Expenses on

transfer { 60,000.

c) House hold furniture costing { 35,000 in 2012 - 13 was sold for t 45,000 in

March 2023.

d) WDV of motor car on 1-4-2022 was { 76,000 and was sold for { 85,000 on

1-12-2022.

e) Self cultivated land was compulsorily acquired under law for { 24,00,000,

01-01 -2022 and its cost in 2004 - 05 was t 5,20,000.

compute his total taxable capital gains for the A.Y. 2O2g - 24.

lcll 2001 - 02: 100, 2ao4 - 05 : 113, 2012 - 13 : 200, 2014 - 15 :240,

2015 - 16 : 254,2022 - 23 :3311.

1 1. From the following information of Mr. Vivek (Resident). Compute total income

and taxability for the A.Y. 2023 - 24.

t
1,20,000

3,50,000

5,10,000

1,92,000

20,000

18,000

9,500

1;50,000

-7-

1) Rent from house property (Computed)

2) lncome from business (Computed)

3) lncome from sa[ary (ComPuted)

4) lncome from other sources

He makes payment towards :

a) Life lnsurance Premium

b) Donation to Prime Minister relief fund

c) lnterest on education loan on his son

d) Medical insurance premium on his health
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1 . ddnd d:adoaddro 6 erud-dd"n+n gr"-do&. !,9o3,tcd: wd-$d.ri 2 ecdfiv-:. (6x2=12)

o) {gc$Q *rrrrea.

D) drldr dqg eJdd dz3d aodded: ?

&) 5.o23^od Xbd ddiBldlooC dC oodded: t
,J

a) zJed d:osrlgod eyaao$d ereoJ:e)_?,JdJd eJCEo$ dO,{dra$idrd oll€mdC,o
4 E:esoJ:,1SC?. oio,l,.

q) uod"to$ *:t .roCceC: ?

aqf ) ciOtu : CBDT, ClT, ITO d.:d: PAN.

d) d,doadd eroqJddl dod:&aCla"rl, :*edo!?rd)md oao1d?"ild$de 99tu.

Dzs) dori dr:d itar-o qJdeo idrd$cdded: ?

aqrail - s3

oto$ecddro 3 4,d4il9ri erodotr. d,e €,d*d.ra 4 podd$: (3x4=12)

2. * d$Eod $t3:rd$ lettcrodrdoJrq 89,1, 5;r6rdOcd srb# erEqJ d:Q d*d$dtr
-J^-)\9 a^q\A
O -G9'TOOUJL^J.- U,

1) ddrdO_d>7u dorloS:d: mdgtudJ { 30,000

2) d$ddood esd d-'.;5 T 3,00,000

3) dnOedd dedd { 48,000

4) rgdEori *ledend en:d:riodd$.: { 25,000

5) zoodaaeJd d:eOd zcG*{ 60,000

6) ded DC)a c!,ee)Jo$o t 40,000

7) otrEecdJ id*d6 dr% cod T 2,00,000

B) e.tS*re {Bdo$ a)eJ:rdsc t 20,000.

',1
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3. 31 -3-2023 d ddrdu dodrf6$)"d Q, e doed qia,f d eD?,,J d:Q d{and dt d$dodo8d.

auaraadOod ud,:d gDddo esaao$ dOrio$d1e9xl.

erad a$+ diarod

Dr. T Cr. t
^-)JJJ.J-c^JcJ(JtOIl\/J

rl dq3eoo$ dedd

$dodTrs)

45,600 "aod dEe.t entf 3,74,650

zP 
-{si 

{oi*:.|-{ I 
^J 

c./ C^.\J O C'J ( C^l (rJ I 
-a/J 25,550 eod den^^9 12,500

ri dddJ xDerlSJ 21,000 qcd d,oeBrl$; 7,500

ri dddr xoe-:d9 iQ 35,000 Aod .)ded ledr8rl$; 21,000

ri zJoS cd> do3: 18,000 aecd tJddgod uod anari 65,000

ri ero&ecdrrlS: 12,500 qod e^:cddmq rlgd 35,000

ri z.:cdasa$d C:eed uG* 13,500 qod e.D€,JOo):od z.lod

ri unrof :esd C:eOd e;G* 22,500 doq (ed*9) 67,500

rl deedri 21,000

ri iddp 16,000

ri 0*$ eDd 3,52,500

5,93,150 5,83,150

uoaoJ: dori &z^:cfrdirv igaO i,e dud:ead SddP t 18,000.
,,r

4. 6oaod aoelur 4, 2023 dod: Q,e oaar aoz"pd#d: zSorl$od: drfd ndo$ a"d.!o$OJ$d

5,, & {-e e) c$ & { B 0, 0 0, 0 0 0 dqe iI C,E D e, C C dJ e d d e d ae 2 ddld eq* o$ di do tim.d .

"dd;€i 
d,,&2J.6.)Jo$q< 1 5,00,000 d9ri Omod droasr 1 ,2007 dod: $oeoA6r.d.

ooaod il;i,,t'r 15, 2A24 dod: ?dd: nito€sa {,Ceddep:d 6& ?iratuo$q

T 9,00,000 deat$ dsur:*$o€Ot croi.

dmd;qdd dedr od : 2006 - 07 : 122 crsr 2022 - 23 :331 dori ddr 2023 - 24 Eb

er{cl:mrbdoii alcC5;g :i F5CJ, dcdrto&&Jo.

I
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5" erffiojJ dorl cdr 2023 - 24 d0*geoJ::d d&d'ddd "ago ;;is-s =='i'dq
!-J-9 9 aor9-
dC(,,9JOJL9-L/JV.

a) eraso u3deuid $oeo { 2,500

b)eDsoc$CI-dadr(&dd$)T84,000u3'G'ax6'doddT36'000

c) La?sd detrd d:eed zJa*T 35,000 (do*o)

d) d:e,::oe; aodd idadJ d'DtuE t 9,000

e) mdr eJueod z.:od e:6"o$ { 22,000'

6. m. ddt"odc qndeec: aaruo3>ndo31 -9-2029 dddsRd eroac:d dDbgc$di

:,or:rrJd dd#ir 2023-24 d, edd ?"uD,irDle uoao$ddldod:baor:o'
aviw\^/ic,v' (J\Jd;^\c lvLv -' -d ---- --- e.J a

^\ :(.j ",?,a1J3d 3JOd g,m:.i: (dodJheedJ ) { 1,80,000
ct /, c^^., O'/ \., '1 !

b) &derdEd d:e-rut 40,000

c) oauoo:ood uod sato$ (&ddqj) { 1,05'000

d) ddgdrod ?,iod smc3: (dod:&aod'J t 3'85'000

e) idrod icsocd a:cd eaqrccd t 90,000

f) OePardQ uod;o$ rlgd t 80,000'

C6orl - ,:,

oJDdcDdd,o 3 {,doded w-dotu' €,g €,d*rl 12 eoEr1$':' (3;1!=36

7. d$d &aEtd)dod6 gi?.1 $8 d{ andor:: Q,e loddrNfddori erdd bood ddr

2022-2gEricuoQ:,d:.elddZOZS-24ddrdaaraaderoadddldod:bao3:o'
g1 -g-2023d meJ ;fiQ d{end

er-.acrair { SddZl*,: t
cJd(/Ilv.J

aa,dc;nd idd: 85,000 dnoot"S 6'50'000

sloe& 2,40,000 e'c3d) iddc 1 '10'000

doO 18,000

il u3 12,000
'-4J

?^ "' c-a-i 4,05,000
^!9 \/ \rs+/a 7,60,000 7'60'000

'l-r
I



Iil]|il ]l] lil il|illillllltlll

SqJeo sla3:r

ioudrl$c

^-E J 
-t--r. 

JqJ
6)0{,91 I Q^}J(1J 9\rt I

j

eJdoo$ dori

{r-? alolra
C^^JSJ e(.,G.^/r

Jziz{r 66r 4.15f6r1
O\JUi J ^Jer\-/ C^^rf,^J\r\./

.m2^on*r(!uq.J\\.,rc,q J

derirl

dnoct,.l don

eJm3.JJ dOri a:eier:

-. ):.$eB *gf daf r
- ..1

-^i a\ofr-
^r v i7 cr.J 

'..IJ 
l'-

:isi {oiA./crC^LrgNf C!(rr

t"lodayo$d d;eeij z^rB
a

ddd.: me.r

odeo

.pq,P 
-<^ 

. {- 'l
9UI I COe { Uc- :"JJ.}.,)

dJOd dz3-23

ejd iouceddd ilzg
JIUA

JJJ^6

^lcJO\/

DdS enzJ

'18,000

26,000

16,000

18,000

15,000

8,000

15,000

8,000

20,000

18,000

15,000

8,000

16,000

19,000

8,000

8,500

5,500

12,000

12,500

30,500

5,73,000

8,70,000

-1 1-

?aar aso{
^.lJc, 

\J \Je) (,
a

de&dS abeOd e.rowrod (dra_e)
qJ

-r-J ^- aJc^IrN Luc.rQg( I

- -- ^J- Jc J J-J- 

-Jo
LTCJqJU.J.J 9U/\ gJJUJ c"JcJcJg

i6"ro meilgd zJac

--JJ 

- 

--J 

-J- 

6
(JerUqJ de.,)fr(J crs c"J-.Jr{,

cj:c9 dnooud er;

--/J ^ ^- ^f r
dgu LTOdL\.IJ

NP - 344

4,05,000

12,000

1,14,000

6,000

1,10,000

18,000

1,90,000

15,000

8,70,000
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-9- cJ qJJia.L re(,gN c"JcJ(Jtlv9 .

i) Ioz:Sde-{ B,50Od1ioz,loE oaEderi &eGdJaqldd': eraded i3;: =siidizJ€6nd.

ii) sJoeAo$-O-T 30,000 drQ t 10,000 dpdrErcdorl ddcb'6roCetrr;.

-12-

iii) agdoQd Bd$ 10% dqjl,i dpe,r, C>6d:CI-od. eogd: Bddr 10% d?*ri d&e'r,

dJEa&oad.

iv) ddde o€drdd) t 34,500.

v) 60% rood d{r*r*d Bouofr.

vi) xedndd d?*do-{ 8,000 dsq dryd iodoedd ddier: doeu:Q, dndend

dodlaefrm lo# DedeDnd.

B. Q,e c:df aoapdd: zJoilgoOd {&Drg dSeedr. edd: eil d*nd smc3: $23':r

aadcJ:U: daarod" 31 -3-2023 E dolDoloa d.'-it-- - z) 6 o]

cJLg
, ps:a{r\ \rt^J€/w

ri d.dd.d^ dLSd$r 26,000 "aod 6DdrDd,J &e,
eJ 9a u d

ri 8$eoc: daffl$c 16,000 "aod Dded e,Croerl

J:.tlo.t\
I ) ('dNI IY9 12,000 "aod hoo8rl9od dead draddel

ri dodaocd $a3:rrl$c 9,000 ddd erod;rtod

16,000 "aod d:doj: ?f,JGriri eraao$ dori

ri zroari *' 18,000 "aod Brcro dd,drls abeOd uG* 36,0C

ri dJrlgri erud:riod 8,000 "aod 6?dtod: raejedd erduo0d

rl edrds6 dqf$,

rl NDF ri oad

ri PPF rl otd

rl oado&d &o3:daO8rl$o 8,000

2,86,00

5,60

8,00

85,00

4,000 erudoaridd ious 32,0(

5;000

5,600

L rl-l
I

ri Bous 32,000
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ri aod: $OeO 1,50,000

ri aedoedddea $oeO 10,000

ri ded Ddn do$ 12,000

ri raod dqildr 15,000

ri rleadC:o$ $oeo 40,000

ri da}d er6"oJ: 66,000

4,52,640 4,52,600

J^ J-J< J ^-JJ - 
---.r-, 

o ^rcJ-- 
q i{}l 6?/ lc)'q,9Q ;-:Jv/ \i/lUo n-tUOni.c/ lCJ.

a) d:dc6 sF- il-o$q miod:- w9dQr Eepeonafl erodCoefli:ecd. z,o&ri

{r?r - 
-- - 

Je!z!z),: z./" -{rJ-l i^a.ae.9.{a,\.5: Jvw.ii ,C^rl IYJ r7t i^IrOJr I ^l-GJvL1J^JCr.:-lJ

b) sF.- aod d{d#o {c$qd erddri.

c) ild9 (ana,r,rd) aaod d.:eOd 5e. 15 ddu;. rleado3:o$d d:eeJ de.40 drd:

eedoedddmd$ d:ed de. 10 dd:.,nlrQ Eadro&d &oJ:daaOdrl$ d":eeJ de.40.

dori ddr 2023 - 24 Ebedd dorlri g"#ic:d dr8 ereooi:ndl dod:haobo.

9. * d$nd Ddotii;:C Q,e d:ded epdd qdd d:eorlgod z;od t:erro$d& dorl

ddr 2A23 - 24d.u{c3:lodod doC:&aobo.

a) id. {J5621{:C z-:d ct,a{d { 3,60,000 (6s soaoj:dd: rlgre; ilDAd dC
' I -p 4 aJ

T 35,000).

b) &derddd.: icepdd t 45,000 dmdd.lX doi&ol:od ddadr .

c) rio; {,9 8cil$c T 45,000 dod z,nari dot,u d:doJc0-aatufp8d:aod. €{ c:do$
z:. 40dir*:* qrDddq en:ez,oariri t 35,000 4,.9 €od9ri dot"fld:qd. dl d$rl
o -: : J\r ^' ^r\ 4J.J)- ^^ - - +-J -r- -.p- - -P J- c i-- J

'9 : :, rr- ;J ;J (,jJ F / )?clJo'd(3 ( c"}Jc'J qtr}, cJJt(; *Jd OgL\Jgd U.

1) ddd i?,rcir dod T 15,000

2) cab t 12,000

3) d:d,l $23:r { 18,000.

NP - 344
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d) dqddQ. olrodqeiddea ibd doo3* zyoariou:od t:od dra dl:,d t 75,000'

dr dqjd g*:r&d $23:rd*d1deQoood.

1) ndde { 55,000

2) d)dtu aDz3:r t 34,500 :

e) oatsm*dde)$d dd& q1.lotuou:od uod eroao$ { 4'56'000

0 ad) de>-e ddad).t 95,ooo (p*$). dr esevooJ:dd}rleBe)) d)Ead d4{ 17'500

g) duorosd iuard erro3oobod uod deo t 5,00,000 (ed69)

h) zmrosd dede6os:od t^-:od Dqdsa t 9O,OOO (Od*91

i) hodo eaqiq esxrou:od uod mer: { 1,80,000'

10. Q,e d.:oxd"ddd drauaB: ddr 2022- 23do-drooao^iaad eJtud$ dldbg

dsEodosd

a) u$deorlg&* $oeotuc$ xoo6 2015 $OeO droE { 4,OO,0OO dnoa[^l d',ad*

d)P 2022 a>oo^ld de, < 32,5O,OOO'

b) #_rdradr aaid d:d ag.g x rdro A u o ad:. 1 998 do- 3 1 -1 0-2022 dod:

< 45,OO,O00do dnoasa"nd. ooaod 01-04-2001dod: 'add anrcoezsd

dDdrdqo3rzieJt9,OO,O0O.2014-1SdO-eQddaod%T3'00'000'
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c) {,doedcoeh erudEdearls) 201 2 - 13do-aDDeo dqrt 35,ooo, d>oot^ld dej

d) doeorod: rod; idd9C) dodd Ooaod 1-4-2022 dod: rood dPe), { 76'000

ooaoE 1-12-2}22dod: dnoao^laad eJeJ t 85,000'

e) *od dra zfoa: ooaod 01-01 -2O22dod> { 24,00,000 e':dd rado&d dmd

drro^o$aaR dddatuEooad:.2OO4 - 0sd{edd d&e.r, { 5,20,000.
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abee.rood Dddrlgod 2O2g - 24d ddddr dorirl ugdd:d uodaas il9do$dtr

dod:bEo0:o.
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11. er6"o$ ddr 2023 - 246tQ,e adea+ etdd uemo3:ddtr dod>beou:o.

1) ild e:&ol:od uod eraec$ (ddd ma6d.:o)

2) aaraodOod z^:od erenc$ (oduaaEd:J

3) iousood uod seroo3: (eJEu aaSd:o)

4) .add C:oorlgcd ;-cd soaol:

edd: €r E$dod mtd ood& Cnamod :

a) ded .)C> dod;

b) dqiES d:o$rl$ ioaed eQrl deriri

c) udd d:rld amr4rorn xne.rd c:eed u:Q

d) eidd udoerld C:eeJ erdnert cm dod:
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18,000
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